ABHEH#EB Internal structure

‘ }R183% Specification
147 Model SRU-10 | SRU-20 | SRU-30 | SRU-50 | SRU-70 | SRU-100| SRU-200| SRU-300| SRU-500
YEEDFZ TN Type of Operation #2371 Double acting
P A8 Fluid ZBE, Air
R Torque Nem 1.5 2.2 3.2 5.5 7.5 9.8 19 31 45
FRELEI{E Bore Size a15 @18 @20 @25 28 @32 @40 @50 263
EE)AE Rotation Angle 180
FEAE Adjustable Angle 0° ~ 190°
EEOE Port Size M5 x 0.8P Rc (PT 1/8")
{EFAEET] Pressure Range kaf/cm2 (kpa) 1.5 ~ 7 (150 ~ 700)
{EFAREEE Range of Service Temperature  °C 0~50
SRR 1828 Shock Absorber 0.039 | 0.116 | 0.116 | 0.294 i 1.6 29 3.5 5.2
=8 Weight kg 0.53 0.99 1.25 21 2.89 41 7.65 8.96 1117
STHETEIF(CSR How to eoder
— . mmsa )
| HERELAR Model ‘ | 373 Torque | FEFRERHEE Sensor switch |
10: 15N'm Fitlh o fiha EHETHEYE
200 22N-m Model Description Recom. number of use
L T e —
30: 32N-m MMsao BTSN (B )
50 55N-m Straight design (two-line non-contact)
700 75N-m 0EENE (MiREEL)
100: 98N-m MMS-30-SA g degrees design (two-line non-contact)
SRU R 5 200:19.0N-m HWECSR AN R
SO AT Rotary cylinder 300 31.0N-m None: without sensor switch
500:43.0N-m

www.rgk-fa.com



{FAEIEERBE Exercise teams explanation

4 B
o) @ESOERDEAE Rotary direction and Rotation angle
@_@%{@_@ Cow -‘?%,} (Z{173L Position hole)
A
b <« 50 Air hole
s =z
,B,
B ] 5L Air hole
B
Fitps i ow RO
o
& ;OEAEZEE 57 E Set of Rotation range >
-
[~
o v
7@% D
o % %)
s
JgEy 3 TER
c/&p"
e 190° 5@ Swing rotation e 180° @& Swing rotation
e 90°3@#F Swing rotation e 90° 58#F Swing rotation e 90° 5@#& Swing rotation
\ P

www.rgk-fa.com



{EFR1E&{4+ER08 Exercise teams explanation
4 B

9= =4 T = .
> SFFEHFEHE Transverse load and Deflection
. 100
v SRU-10 v SRU-20 5L Pallet
= = &5 Loading
E tu E A
é .% 025 | |
- g I —
o 085 = oo
e ————— o : 5
5 g 010 I B=
10 14 18 22 10 20 a0 an 50 U]Iﬂ]]ﬁ T o %
B HEE Load () BREE Load V) ! o
ﬁb{
v SRU-30 v SRU-50 ¥ SRU-70
032 = &
E 5 e £ o £ oo
s é 0.0 g 007
E o L~ § 020 E 0.06 1 i L1
= W o1 W oos
i o020 @ 018 ey
= Erealy T T * 0.04
B oo P ====s==—=
oo e a0 a0 50 20 40 60 80 100 20 40 60 B0 100
BEEEE Load(N) EFEE Load (V) BEEE Load (N)
¥ SRU-100 v SRU-200 v SRU-300 v SRU-500
E 010 én,m gown E_om
£ oos S o8 S 008 =
% 006 % 0.08 // % 0.08 % 0.08
a 004 - ; 0.04 a .04 ; .04
% 0.02 Eﬁi 002 E{; ooz | / Eﬁi .02
20 40 60 B0 100 120 140 160 180 200 50 100 150 200 250 100 200 @00 400 500 100 200 @00 400 50D
BEEE Load (N EEER Load (V) BHEES Load (N) EHIER Load (V)
(» JCEFRE Allow load
BEASO
Loding way (a) (b)
| |
| | |
L Type j = j S ‘ 2
I I [
. IS Table load (N)
& #iLoad {El;2E % Side load(N) B (b) Fu5FH7] Allow torque (N.m)
SRU-10 70 78 74 2
SRU-20 140 130 130 3.5
SRU-30 185 188 358 4.8
SRU-50 300 285 442 9
SRU-70 333 296 476 12
SRU-100 390 493 706 18
SRU-200 543 740 1009 25
SRU-300 850 950 1500 30
SRU-500 1200 1400 2100 38
e S/

www.rgk-fa.com



NERR Y External dimension

SRU-10
B
%
&
@6.5i3] » 30115865
@6.,8 Hole, Thru-hole @11 dp 8.5
4-M5x0 BPIES
4-M5x0.8P dp 8
948
@45
@za - 35
j_rs i
! |
< m1 ' I ] 2-M5x0.6P
I i I |‘H ! Port connection
L oY @
— h ~
i N 5 — !
| : A
' H - L] ™ 41
k | K aﬁ *[ @E ‘&y P
—] \ | r o ©
= w
(I T mt \ o
b T T 1 T
OS(BEThruhole) | a5 || 18
|25 | 215 | BoA2T @ EEIEERRN) 44
92 MAX, MAX. 27.1 The length for shock absorber in the back
N\ 2-MEx1 26PF12 BRIEER TERERIZRE) 50
Z-MEx1.26P dp 12 MAX. 19 The length for adjustable screw in the back
8-MEx1P
SRU-20
e
s| 16
Al
@B.6M3, - FH.014%8.5
(8.6 Hole. Thru-hole @14 dp 8.5
4-MBx1.0PFR 10
4-MEx1.0P dp 10
@61
@60
I_%T o L,,_L 50.8
| @
-M5X0.8P
R ‘ 2-M5:0.8
N ‘J—" | _v»I ] I AL
p——— i S e } Port connection
i \‘l j L
' @
\ : P 3 —B- } ﬁﬁi
— !
R ‘ & AR
I mis . © ] ©
L Ih < | + 333 o LD %) 5
| = @
. [=] ' -
Q[TH\ =] | f<p
0
O9(EEThru-hols) | EA 275
12 017 AT\ HRHERBRER) 59
117 MAX, MAX. 27.1 The length for shock absorber in the back 65
\_2-M10x1.6PF15 FEAEERTERBREREE)
2-M10x1.5P dp 15 MAX. 19 The length for adjustable screw in the back

SRU TYPE

www.rgk-fa.com



NER External dimension
4 ™

Eoe SRU-30
-
R A
2P v
[ N
&5
R
4 T
OB.6EH - ITAO1458.5
a4 8.6 Hole. Thru-hole @14 dp 8.5
4-M8x1.0P#F10
067 4-MEx1.0P dp 10
@65
@32
a 52
]
el =f i 2-PT1/8"
1 J [ T EHRT
L | 91 ~ | Port connection
; \; S —;
| - & 1
T T b — |
# @B i E% 8
‘ Ly 2z
- B i g 8
| i*) - | : -
T T f T
O9(EEThru-hole) 12 o3 28
12 o2 SRoT R RER) &t
157 MAX, | MAX 27.1 The length for shock absorber in the back 70
N 2-M10x1.5PF 15 SX10RESRITERBERRR)
ZM10x1.5P do 15 IMAX. 19 The length for adjustable screw in the back
2
282
8-MBx1.25P -
of 4.
o
55 Q1053 #13017#10.5
100 @10.5 Hole, Thru-hole @17 dp 10.5
4-M8X1.25PF10
o7 4MEXT.Z5P dp 10
@75
@35
10 o 62
= i 2-PT1/8"
1L @] f LR
T o 1 Port connection
1 & |
: ] I L
| o |
! . A g §§ !
\ ! i o —— . AR
i i N |
| ] T T | q [
| ) bl |
it t {
T O . T T T
|___ O10(E&Thru-hole) |16.5 | |
15.5 Q26 EA27 A (EIREE TR RE)
152 MAX, MAX. 27 1 The length for shock absorber in the back
E BAIEERITREAREERM)
2chi12x1 TEPHID M. 18 The length for austabls screw in the back
2-M12x1.75P dp 18
o /

www.rgk-fa.com



NERR Y External dimension
4 D

SRU-70
8-M8x1.25P
=l
B
67 210583, - 50175105
110 210.5 Hole, Thru-hote @17 dp 10.5
290 4-MEx1.25PH 10 2-PT 18"
4-M8x1.25P dp 10 # B F L Port connection
o88
@46
10
& 0
A w o
i —t
&
) ES
IR
— ) — 0
L) — :
[ — ; ? L
17 \ lptaiE o | 17 - VB0 R 43 >
2-M12x1.75PF dp 18 [ \ FREE TR 78 -
‘ 170 (Stroke cushicnShock absorber) a4
(%]
SRU-100
8-M10x1.5P
- |
@10.5i0%, » @ 7THEI10.5
@10.5 Hole. Thru-hole @17 dp 10.5
o100 4-M8x1.25PFR10
@88 4-M8x1.25P dp 10 102
526 82 2-PT 1/8"
o
: | ';:EASML )
| 7T Bl © o v ort connection
L ——— I [ |
o
! _—f |
T
= : : . b @ |
_— i _— q 2
+ ? ! — -3 b e 2]
L , i - :jjB ol B
s t i &
[ W'Tﬁ-ﬁx 2
= s TH—
14 I @19(FilThru-hola) 14 vr'
2-M12x1.75PR cp 18 | o2 SN 5P &
| : R 4 i
.50 P B | (IR (A R) p
183 (Stroke cushionShock absorber) 5

www.rgk-fa.com |£|



NER External dimension

&)
D
&
0, %
b SRU-200
=
8-M12x1.75P &P f{&
-\
O PG 93
A
8 11-Oieese
FanY ;
vy
20 914 2383, 122513
150 @14.2Hole. Thru-hole D22 dp 13
o M TR o
0116 SHESAIRE R 120
o84
15 “ 99 2-PT 1/8°
N o] o g e
L 1
= o o =t 1 | Part connection
> I Bl o
i 2|
RS ‘ ©
[ I I T O B @ 0
Sy — SIS g
i &
He |E§?:% T )L& 9 2-M27x1.5P
3 ru-hole — — —
oMiBP  |©32 TR SRR ESE) 107
WD% 5 (Stroke cushionShock absorber) s
240 2 1
|t
54 2 |2
— 87
| 0L
1 0 ey
i - :
/j\ i ©
PN Ty
P
+ [}
! =
i f
i
R
A
2 G
9, <’~&“">
S SRU-300
0
8-M16x2P «"J/g»s& BT -
SMigdP I 5
R
g 1@ :
i
D
119 @17.5%3, + 30267165
180 ©17.5 Hole. Thiu-nole @26 dp 16.5
@133 4-M12x1.75P#13
0132 4-M12x1.75P dp 13
070
W S 15
LN == 2 2-PT /4"
K | o T HHRL
T +_¥ DT @ || t | Port connaction
- t il
— 'l REIEERE
wl T I
1 & I 1O
i — ; o i @ i
; a7 ‘ B ; ; i
F2 L Jlozs fiTh e S 2.M27x1.5P 77
& x ek
2ME0x2 5P | g | Tl TR SRS 130
& dp25 (Stroke cushicnShack absarber)
280 w 126
2
J5ic) 2 alE
=k
t 8
i N E\*é
| e
: Y S
O @ _____ +O==
| +H
i
i
N /

www.rgk-fa.com



NERR Y External dimension

B-M1Ex2P SRU-500
&
>3
3 o
¢
017,553, + 1T3,026716.5
©77.5 Hole. Thiu-hole 026 dp 16.6
4-M12x1.75PF13
2152 M12x1.75P dp 13
0150
085
18 o
3 EL
< = =]
! =
t T
1T ; ",
— (2]
- : — 8
i i - I
1\ i = &
= : o
/ — :
2 lozs 25| 9 3M27x1.5P
FH /2 m20x0.5P = el ik g5
Fep s pag | (FEThru-fole) G )
300 _ (Stroke cushionShock absorber) 150
g
9|£ 156
80 2 =10
: HE
- 83
i B[
i - %5
! 5l
-
B O ===
Sh
| /B
! i
i

SRU TYPE

www.rgk-fa.com



	SRU-P01
	SRU-P02
	SRU-P03
	SRU-P04
	SRU-P05
	SRU-P06
	SRU-P07
	SRU-P08

